 SCOPE Trial       30
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Mplus Code (Linear Latent Growth Models):
      USEVARIABLES ARE g1 g2 man age living chrotot
                       phyh0 phyh1 phyh2 phyh3 phyh4 phyh5 phyh6
                       lvxg1 lvxg2;

      DEFINE:
          lvxg1 = living*g1;
          lvxg2 = living*g2;

  ANALYSIS: ESTIMATOR = MLR;
            STITERATIONS=4000;
            ITERATION = 20000;
            !PARAMETERIZATION = THETA;

    MODEL:
        i s |  phyh0@0  phyh1@1  phyh2@2 phyh3@3 phyh4@4 phyh5@5 phyh6@6;
        i s ON  g1 g2 living lvxg1 lvxg2 man age chrotot;
        i(v0);
        s ON g1 (bs1);
        s ON g2 (bs2);
        phyh0 - phyh6(r0 -r6);

  MODEL CONSTRAINT:
       NEW(g1dt1 g1dt2 g1dt3 g1dt4 g1dt5 g1dt6);
       g1dt1 = (bs1*1)/sqrt(v0+r0/2+r1/2);
       g1dt2 = (bs1*2 )/sqrt(v0+r0/3+r1/3+r2/3);
       g1dt3 = (bs1*3)/sqrt(v0+r0/4+r1/4+r2/4+r3/4);
       g1dt4 = (bs1*4)/sqrt(v0+r0/5+r1/5+r2/5+r3/5+r4/5);
       g1dt5 = (bs1*5)/sqrt(v0+r0/6+r1/6+r2/6+r3/5 +r4/6+r5/6);
       g1dt6 = (bs1*6)/sqrt(v0+r0/7+r1/7+r2/7+r3/7 +r4/7+r5/7+r6/7);

      NEW(g2dt1 g2dt2 g2dt3 g2dt4 g2dt5 g2dt6);
       g2dt1 = (bs2*1)/sqrt(v0+r0/2+r1/2);
       g2dt2 = (bs2*2)/sqrt(v0+r0/3+r1/3+r2/3);
       g2dt3 = (bs2*3)/sqrt(v0+r0/4+r1/4+r2/4+r3/4);
       g2dt4 = (bs2*4)/sqrt(v0+r0/5+r1/5+r2/5+r3/5+r4/5);
       g2dt5 = (bs2*5)/sqrt(v0+r0/6+r1/6+r2/6+r3/5+r4/6+r5/6);
       g2dt6 = (bs2*6)/sqrt(v0+r0/7+r1/7+r2/7+r3/7+r4/7+r5/7+r6/7);

  OUTPUT: SAMPSTAT CINTERVAL STANDARDIZED RESIDUAL MODINDICES (3.84);

Mplus Code (Quadratic Latent Growth Models):

      USEVARIABLES ARE g1 g2 man age living chrotot
                      mental0 mental1 mental2 mental3 mental4 mental5 mental6
                      lvxg1 lvxg2;

      DEFINE:
          lvxg1 = living*g1;
          lvxg2 = living*g2;


    ANALYSIS: ESTIMATOR = ML;
              STITERATIONS=5000;
              ITERATION = 20000;
              !PARAMETERIZATION = THETA;

    MODEL:
        i s q |  mental0@0  mental1@1  mental2@2 mental3@3 mental4@4 mental5@5 mental6@6;
        i s q ON  g1 g2 living lvxg1 lvxg2 man age chrotot;
        i(v0);
        s ON g1 (bs1);
        s ON g2 (bs2);
        q ON g1 (bq1);
        q ON g2 (bq2);
        mental0 - mental6 (r0 -r6);

  MODEL CONSTRAINT:
       NEW(g1dt1 g1dt2 g1dt3 g1dt4 g1dt5 g1dt6);
       g1dt1 = (bs1*1 + bq1*1)/sqrt(v0+r0/2+r1/2);
       g1dt2 = (bs1*2 + bq1*4)/sqrt(v0+r0/3+r1/3+r2/3);
       g1dt3 = (bs1*3 + bq1*9)/sqrt(v0+r0/4+r1/4+r2/4+r3/4);
       g1dt4 = (bs1*4 + bq1*16)/sqrt(v0+r0/5+r1/5+r2/5+r3/5+r4/5);
       g1dt5 = (bs1*5 + bq1*25)/sqrt(v0+r0/6+r1/6+r2/6+r3/5 +r4/6+r5/6);
       g1dt6 = (bs1*6 + bq1*36)/sqrt(v0+r0/7+r1/7+r2/7+r3/7 +r4/7+r5/7+r6/7);

      NEW(g2dt1 g2dt2 g2dt3 g2dt4 g2dt5 g2dt6);
       g2dt1 = (bs2*1 + bq2*1)/sqrt(v0+r0/2+r1/2);
       g2dt2 = (bs2*2 + bq2*4)/sqrt(v0+r0/3+r1/3+r2/3);
       g2dt3 = (bs2*3 + bq2*9)/sqrt(v0+r0/4+r1/4+r2/4+r3/4);
       g2dt4 = (bs2*4 + bq2*16)/sqrt(v0+r0/5+r1/5+r2/5+r3/5+r4/5);
       g2dt5 = (bs2*5 + bq2*25)/sqrt(v0+r0/6+r1/6+r2/6+r3/5+r4/6+r5/6);
       g2dt6 = (bs2*6 + bq2*36)/sqrt(v0+r0/7+r1/7+r2/7+r3/7+r4/7+r5/7+r6/7);

  OUTPUT: SAMPSTAT CINTERVAL STANDARDIZED RESIDUAL MODINDICES (3.84);



